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KA Fine = Hard PN Fine Sty Hard
A —b/T 4=y RIR -4°C / -3°C A —b/T 4=y RIR 3°C / 2.5C
F=980
JIERT 25—} -b BEEE 1A 2AKH & # L—x
No No K4 |- Fr B 4 | | e [ oAA b
1 6 03014936 i U= s M ER 56.47 54.90 1:51.37 0.00
2 2 03014031 (i e & ERAPEEEAR 56.43 55.53 1:51.96 5.19
3 16 03014040 fEHL FE/E & FEERE 59.84 57.68 1:57.52 54.12
4 4 03012315 /NEF BHE & EESE ST 1:00.70  58.45 1:59.15  68.46
5 17 03019172 ZEjE fm & A ER 1:04.66 1:02.01 2:06.67 134.63
DID NOT START [1st RUN] 0
DID NOT FINISH  [Ist RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0

2018-03-03 / &AW/ 7 =7 U —F > K E

5234 GL8 / 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SET KO
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No No K4 B4 Fr B 4 | | e [ oAA b
1 3203012291 35Ht B s Mm R ER 54.78  51.72 1:46.50 0.00
2 30 03012276 L HESR (i A AR 5529  51.41 1:46.70 1.84
3 3903014949 =2 ERHE ey DET K 55.29  52.66 1:47.95 13.34
4 28 03012298 5iE KiE & MR 56.17 54.06 1:50.23  34.32
5 56 03016107 N/ EEHH & DR 57.09 55.16 1:52.25 52.91
6 58 03017482 U5 1EK 1 RSN 58.31 55.42 1:53.73  66.53
7 5303012284 [AEF Eh & JI B s 57.93 55.86 1:53.79  67.08
DID NOT START [1st RUN] 0
DID NOT FINISH  [Ist RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2018-03-03 / B EA N/ 7 =T V= KphE 0234 GMS8 / 1

DATA PROCESSING by SE I KO TIMING by SET KO
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DID NOT FINISH  [2nd RUN] 1
62 03020964 & & & HH & i
DISQUALIFIED [2nd RUN] 0
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TIMING by SET KO
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A —b/T 4=y RIR 3°C / 2C A —b/T 4=y RIR 10C / 10C
F=720
JIEARE AS=] -b BEEE 1ARKH 2KH A #H L—x
No No K4 |- Fr B 4 IS | e [ oAA b
1 2 03014031  {Ft% R b Py NTHE I 4918 4575 1:34.93 0.00
2 12 03019172 ZHjE ME& & A E R 1:00.60 54.92 1:55.52 156.17
DID NOT START [1st RUN] 0
DID NOT FINISH  [Ist RUN] 1
16 03014040 #&E#h FE/E & FEER
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
11 03014936 >y OR7- ey = AR
2018-03-04 / fEBEA N/ 7 =T V= EphE 5235 SL8 /1
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DATA PROCESSING by SE I KO TIMING by SET KO
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1 3503012298 ZHE AHE & M ER 4425 4288 1:27.13 0.00
2 3903016107 N4k EHFY (i AR 4775 4431 1:32.06 40.74
3 5803017482 M VEK B [FEESEIETN 50.84  47.32 1:3816  91.15
DID NOT START [1st RUN] 1
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DID NOT FINISH  [Ist RUN] 3
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DID NOT START [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SET KO
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TIMING by SET KO



